HSC 2002 - Mathematics

Band 3/4 - Sample 3
Question 8
————

BOARD OF STURIES

-----

uuuuuuuu R

e,

Qta G,w/ b/)_ X =S 2t 13
wlen = =15 e = ur
B
& = Qhe'kt F=m
= TN A
i - )Tk 2 f |
2 = < ( I
6 &
an 1+ = —-ISk - _1L£' T I‘:{?lf
z "7
‘ L
k= I~ x = &ps 2x "’;L'
SRR <
= 0-046b f=o » (e52x =
X = ‘T-g#q/
< /B3
o | o4k
W) = (Q g_,/__,_.__..\ it 7 Y=2
S F=vy e te gt
|

Wy
Ej: — (——¢8’+ @
- ©0-0490 ~

02WB4



	subject: HSC 2002 - Mathematics
	Band 3/4: Band 3/4
	sample:  -  Sample 3
	Quest: 
	 X: Question 8



